
                                                                                                                        

Toroid L.V. - Chassis Mount 

Hardware Kits 

Part Number Images Use Description 

1182KIT30 

 

Hardware Kit for 30VA Models 
10-24 x 1.75" bolt, with metal centering washer,nut, 

lock washer & two (2) rubber insulating pads 

1182KIT50 

 

Hardware Kit for 50VA, 80VA & 

120VA Models 

10-24 x 2.00" bolt, with metal centering washer, 

nut, lock washer & two (2) rubber insulating pads 

1182KIT160 

 

Hardware Kit for 160VA, 

225VA & 300VA Models 

1/4-20 x 2.50" bolt, with metal centering washer, 

nut, lockwasher & two (2) rubber insulating pads 

1182KIT500 

 

Hardware Kit for 500VA & 

625VA Models 

1/4-20 x 3.00" bolt, with metal centering washer, 

nut, lockwasher & two (2) rubber insulating pads 

1182KIT750 

 

Hardware Kit for 750VA & 

1,000VA Models 

3/8-16 x 3.50" bolt, with metal centering washer, 

nut, lockwasher & two (2) rubber insulating pads 

1182KIT1500 

 

Heavy Duty - Hardware Upgrade 

Kit for 1,500VA Models 

3/8-16 x 4.50" bolt, with metal centering washer, 

nut, lockwasher & two (2) rubber insulating pads 

 


